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Economics	Unit 4 CRQ	
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E.50 Describe the growth of income inequality in the United States and worldwide using the Lorenz curve and analyze the reasons for this increasing disparity of income. (E)


One way to show the distribution of income within an economy is by using the Lorenz curve. The Lorenz curve plots total family income against the total number of families, arranged from poorest to richest. On a graph, if the Lorenz curve plots out to a perfect 45-degree line, then the nation’s income is perfectly distributed. The farther away from a 45-degree line the curve bends, the more a nation’s income is increasingly unequally distributed.

Based on the Lorenz curve above it is possible to see that income in the United States is not equally distributed among its population.  This graph demonstrates that the poorest 20% of the U.S. population only makes 8% of the nations income while the richest 20% makes about 52% of the nations income.  Some level of inequality is expected in economies that operate in the free market because people are rewarded based on the demand for their ideas or skills, and even though some economies such as socialist or communist economies try to minimize inequality with in their nation all economies have some inequality.


Use the following graphs to answer some questions about the distribution of income within several nations.
How has the distribution of income in the U.S. changed in the last five decades?








Which percentage of the population has seen the least amount of change and why do you believe this is so?






Which percentage of the population has seen the greatest amount of change and why do you believe has lead to this?






Based on the graph above how does the U.S. compare to the nations shown in terms of income equality?









Which nation in the graph demonstrates the greatest level of income inequality?



Please explain how you came to your answer.
Lorenz Curve for Select Nations
Equality	0.0	20.0	40.0	60.0	80.0	100.0	0.0	20.0	40.0	60.0	80.0	100.0	U.S. 	0.0	20.0	40.0	60.0	80.0	100.0	0.0	3.207812624756681	11.60770579862172	26.01326516284102	49.00814136291426	100.0	Sweden	0.0	20.0	40.0	60.0	80.0	100.0	0.0	6.84931506849315	22.26027397260274	43.4931506849315	69.17808219178062	100.0	South Africa	0.0	20.0	40.0	60.0	80.0	100.0	0.0	0.485731633272617	1.396478445658773	5.889496053430481	30.17607771706133	100.0	% of Population

Cumulative % of Income


U.S. Lorenz Curve
Equality	0.0	20.0	40.0	60.0	80.0	100.0	0.0	20.0	40.0	60.0	80.0	100.0	2013	0.0	20.0	40.0	60.0	80.0	100.0	0.0	3.207812624756681	11.60770579862172	26.01326516284102	49.00814136291426	100.0	% of Population

Cumulative % of Income


U.S. Lorenz Curve
Equality	0.0	20.0	40.0	60.0	80.0	100.0	0.0	20.0	40.0	60.0	80.0	100.0	1967	0.0	20.0	40.0	60.0	80.0	100.0	0.0	3.917717884151215	14.77367197195147	32.1064109206135	56.35730550970492	100.0	1990	0.0	20.0	40.0	60.0	80.0	100.0	0.0	3.831703391928694	13.47270363951473	29.39712800198069	53.40647437484525	100.0	2013	0.0	20.0	40.0	60.0	80.0	100.0	0.0	3.207812624756681	11.60770579862172	26.01326516284102	49.00814136291426	100.0	% of Population

Cumulative % of Income
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